No. C96*-OM0092P

SMCHXE4L



P2

P4
1-1.

P4
2-1.
2,

2-4.
2-5.
2-6.
2-7.
2-8.
2-9-1.
2-9-2.
P23
3-1.
3-2.
3-3.

P30
P31



1SO/1EC NI 2
1) 1S0 4414: Pneumatic fluid power -- General rules and safety requirements for system and their components
1SO 4413: Hydraulic fluid power -- General rules and safety requirements for system and their components
IEC 60204-1: Safety of machinery -- Electrical equipment of machines (Part 1: General requirements)
1SO 10218-1: Robots and robotic devices - Safety requirements for industrial robots - Part 1:Robots
JIS B 8370: -
JIS B 8361: -
JIS B 9960-1: - ( 1 : )
JIS B 8433-1: — -1




S1

*3)

1.5




1-1.

1.5MPa

1.0MPa

0.05MPa

-20 +70 -10 +60

( )

500st *3°mm
501st 1000st *%44mm
1001st 1500st *38mm
1501st 2000st *3?mm

50 1000mm/sec

(P9, 2-6.

2-1.

-XB -XCr




2-2.

VG-32

25A-

MSDS

ISO



2-3.



(fR)[IN]

1000

100\\ \

10 N\ N enA

0 500 1000 1500 1900

[mm]



2-4.

(MPa)=

(mm?)}

15

(MPa)+{

(kg)



2-5.

1)

2)

2-6.

AS
@32 @40 @50 @63 @80 @100
2.3 3.6 6.1 11.4 21.1 31.7
11 1.8 3.6 6.0 12.0 12.0




2-7.

(mm)

32,40 JIS 4648 4 0.02N m
50,63 JIS 4648 4.5 0.02N m
80,100 JIS 4648 3 5.5 0.06N m

2-8.

10

1(P9)




2-9-1.

11 (P27)

11



2-9-2.
4 8
© P17, 3
®
© (C96SDB )
° P1920, 67
""" D-MON(V) M9P(V) M9B(V)
D-MONW(V) MIPW(V) MIBW(V)
D-MINA(V) MIPA(V) MIBA(V)
""" D-A90(V) A93(V) A96(V)
4.
FA— AL YFER{HAEZ FEEt (B FS 4%
M2.5x0.45x4L
AETUTIESAL
M4
BTBLSC
LTLEE
H— RRAYF
F— 2L YF
RIISE
s40 F
M4
M2.5
Y 15mm
2) M4 1 12N m
3) M2.5 5 6mm
0.05 0.15N m 50

12



------ D-F59 F5P
D-J59 J51 F5BAL
D-F59W F5PW J59W
D-F59F F5NTL

------ D-A53 A54 A56 A64 A67
D-A59W

%a\x—hzﬁv§ﬁﬁERmM]

F—FAAwF
%%H i F— k24w FHEGER

0 E !
———

M4

M4 1 12N m

13



------ D-Y59A/B Y69A/B Y7P(V)
D-Y7ZNW(V) Y7PW(V) Y7BW(V)
D-Y7BAL

------ D-Z73 276 Z80

BEEt (B ES51/8
AR L ES

M4 x0.7 x6L \G\a

1) 15mm
2) 5 6mm

0.05 0.IN m 90=
M4X0.7 1 12N m

14



------ D-P4DWL

1.0 1.2N m

RETARIL
MAx0.T=8L

M4

M3
M4

AL R
M3Ix0.5x14L

M4X0.7X8L

M3X0.5X14L

05 0.7N m

15

M3

M4

M3



------ D-G39 K39
""" D-A33 A34 A44

8.
D-A3[J2,D-G3-K32!
A—RRAF

A—RZAYFRAER
M5 X0.8X16¢

A—R2AvF /SR

D-A44%
A—RZAVF

A—hRAAVFBIER
| M5X0.8X16¢

A—RZAYF B/ AR

16

2 3N m



3A—hRAYFERNEE /SRmE

F 21— P& (mm)

A=ERCIER 20 50 63 80 100

D-MOCI/MI IV

D-MI_JW/MI_ WV
D-MOTIA/MILIAV BMB5-032|BMBS-032| BA7-040 | BAT-040 | BA7-063 | BAY-063

D-A9C/A9CIV

D-FSCU/FSCIW
D-J59/J59W
D-FSBAL
D-F59F/FSNTL
D-ASLI/AGL]
D-AS9W

BT-03 BT-03 BT-05 BT-05 BT-06 BT-06

E--:TP[\FU%W} ® D-AS1(V), MSCI(V), MICIW(V),
D-Y7BAL : BMB4-032 | BMB4-032 | BMB4-050 | BMB4-050 | BA4-063 | BA4-063 Mo AN EOERAfETLET.

D-Z7/Z80

D-G39/K39
D-A3[ /Ad4 BMB2-032|BMB2-040|BMB1-050|BMB1-063|BMB1-080BMB1-100

D-PADW BMB3T-040{BMB3T-040|BMB3T-050|BMB3T-050)BMB3T-080 BMB3T-080
[ZF L ARBEAEY F]
FTROAT /L-AEMEFEI Y (kbR EEL) EABLTEYUETOT. EARBICGLTIE#AUEEL,

(F—F2A v FRAEEFEL. ELEHAOTHEFEIZEL )
BBA1 : D-AS/AG/FS/JSEFH

1) BBAIMEEEAEL. F—LR—IWEBHFOSE 2 1iBest Preumatics® ZSB EE Ly,
D-FEBABIZ — | 2 wFiE, L FIRFHEFICE., EROZF /L AMEERRALET.
gl A— 2w FREEFHRICE. BBAISSEGERET,

#2) D-MICIANV), YTBAR 2 “#EA=hSHIBS . EROF— 21 v FHiFHE(BMB5-032, BAT-CICIC],
BMB4-[I00]. BA4-OI0ICD - IR B s L EAE T, AliE 27 -ABEZEY - BBAIE2FE
WWeEE, BBAIICEZFHAMAXELOZT VL AR LETBEDS 2, SEACESLY

33 SRR A R M IICD-Ma0 V), MW V), MBJAV), ASCI(VI B% TERAEThSHIE. A—F2
Ty FE{1EERBEREERREIIVIHEZ T,
flé LT, F1—/AEe32MIBMBS-032VRL SICHEYU ET,

4 Eh{EEREH

(mm)

— 432
F— k21 TR F 1 IhE

32 | 40 | 50 | 63 | 80 | 100
D-MO[/M9IV
D-MOCOW/MOCIWV | 4 | 45| 5 | 6 | 6 | 6
D-M9[JA/MS[JAV
D-A9[/A9LIV 7 | 75| 85| 95| 95105
D-F5C/F5]W
D-J59/J59W
== 35| 4 | 4 | 45| 45| 45
D-F59F/F5NTL
D-A5[/A6[] o | 9 [10 [11 [11 |11
D-A59W 13 |13 [13 [14 [14 [15
D-Y59( /Y69
D-Y7P(V)/Y7OW() | 55| 55| 7 | 75| 65| 55
D-Y7BAL
D-Z701/Z80 75| 85| 75| 95| 95105
D-G39/K39 9 |9 | 9 [10 [10 [1
D-A3[/A44 9 | 9 [10 [11 [11 |11
D-P4DW 4 | 4 | a4 | a5| a | 45
XEEESHILERTHY . RET2EHEDTIEIHY FHA,
(IF5D=+30%1EE)

BEDIRRICL D KELELLTDIESHBUET,

17



5 A—h2A Y FBERMMIE (R hO—2 T 2 REHE) BELUHRGS S

A A= kR4 uF =Hs
T T P T F
i '} 1 — '} i
— ' I ¥
] E i
- == 7|
B
B0,
F— b4 v FEERME (mm)
#— D-Y59]
2LYF D-F5[1 D-Y69]
2t | D-Mar1(V) g'_';gg‘:'w D-ASL) D-Y7P(V) '?l‘GKgg
D-MOCIW (V) | D-A901(V) i D-F5NTL D-A59W | D-Y7CIW(V) D-P4DW
D-J59W D-A6C1 D-A3C]
D-M9IA (V) D-Y7BAL
D-F59F D-A44
N D-z7C]
D-F5BAL Dz
Fa-7J 80
PIE A B A B A B A B A B A B A B A B A B
32 14 105 | 10 6.5 | 10.5 T 1655 |12 4 0 8 4.5 7.5 4 4 0 7 3.5
40 14 |14 |10 |10 |105]|105]| 155|155 4 | 4 8 8 75| 75| 4 | 4 7 7
50 155145 |11.5 | 105 | 12 11 17 16 55| 4.5 9.5 8.5 9 8 55| 4.5 8.5 7.5
63 1656|155 125 (116 | 13 12 18 17 6.5 5.5 10.5 95|10 9 6.5 5.5 9.5 85
80 215|18 |175|14 |18 |145|23 |195|115| 8 |155|12 |15 |115|11.5| 8 | 145 11
100 21.5 |19 17.5 | 15 18 15.5 | 23 206 (116 9 15.5 | 13 15 1251115 9 145 | 12
) EBOBREICHSEILTE. 4 RS v FOEBREEREOS A, BEENET,
A—rZAvFHRfNEE (mm)
7‘?;; D-Mo[] D-MOIV &Eggw e
ks D-J59 D-A5[] D-Y69[] D-G39
D-MOCW | D-MOCIWV a D-Y7OOIW
DA | Dmeniav | DO D-A6! Doy7BAL | D-Y7PV D-K39 D-A44 D-PADW
D-F59F D-ASOW D-Y7LIWV D-A30]
D-A9[] D-ASC IV D-Z701
D-FSBAL ==
Fa—7 D-F5SNTL
Az Hs | Ht | Hs [ Ht | Hs | Ht | Hs | Ht | Hs [ Ht | Hs | Ht | Hs [ Ht | Hs | Ht | Hs | Ht
32 245 | 23 305 | 23 325 | 25 35 245 | 255 | 23 26.5 | 23 67 275 | T7 27.5 | 38 31
40 285|255 | 34 2551365 | 275|385 |27.5| 295 | 26 30 26 715|275 | 81.5|27.5 | 42 33
50 335 | 31 385 | 31 41 34 435 | 345 | 335 | 31 345 | 31 77 - 87 - | 46.5 | 39
63 38536 |43 |36 |46 |39 |485|395|33 |36 |40 |36 | 835 — | 935 - |515 |44
80 46.5 | 45 52 45 52.5 | 46.5 | BB 46.5 | 47.5 | 45 48.5 | 45 92.5 — 103 — | 58 51.5
100 54 h3.5| 595|635 | 595|565 62 1513] 555|535 | 56.5|53.5(103 = 113.5 — | 65.5 | 60.5

18




(mm)
T Era—— IS A RSO RER
2 LBES 032 | 040 050 | 063 280, 0100
24911
o giﬁﬂ—ﬁ) 10
D-MaCIW i 10+:2m(n 2)/2
oz
%?ﬁ- ) 10
DoV i
awv 10+30(n-2)/2
nofd N=2,4,68.
24r1d
(BRE.E-E 15 10
D-MoJA 1413
15+40(n-2)/2 10+40(n-2)/2
n’rfd n=2,4,6,8-- n=2,4,68
24911
(RE.E-E 10
D-meClav | 17fd
ot 10+30(n-2)/2
n=2,4,6,8
241t
(BE.E-T 10
D-A90 141
i 10+té04(r16—82}f2
n=£,4,0,0-
24911
(RE.E-E 10
D-A9CIV 174
nrfs 1?:204(%82)12
D-F501 1 f 10
D-FSOW  [Z5p
DNy | REE-E 15
EEEPL ot 15455 (n-2)/2
n=2,4,6.8...
15 f 10 20
274 15 20
D-FSNTL | (RE.E—&
15+55(n-2)/2 20+55(n—2)/2
n’fd n=2,4,6,8.- n=24,6,8-
241
B 15 10
-5 .
60 nrfd 15456(n—2)/2 10+55(n-2)/2
n=2.4,68 n=2.4.6,8-
141 15 25
244 20 15
D-A59W (BRE.E-E
nrfd 20+35{r16 2)/2 15+g5‘{%—82)f2
n= n=2,46.8-
24911
DY | REe-m 15 10
ey
15+40(n-2)/2 10+40(n-2)/2
D-Z80 it n=246.8 n=2,4,6,8-
241t
D-Y69[] (R@E.F—&) 10
D-Y7PV 1714
D-Y7IWV 10+30(n—2)/2
nofd N=2,468.
24rd
(RE.E-E 20
D-y7BAL | 1713
20+45(n-2)/2
n*rft n=2468
241t
(RE.E—E 15
D-P4DW 174
15+65(n—2)/2
nofd n=2,4,6,8-
144 10
243 (RE) 35
D-G39 25 (F—-@) 100
D-K39 35+30(n—2
D-A3C] n/r {1 (Rm) r'|:2,3.(ﬂl:l.5‘--)
_ 100+100(n-2)
nr{HE—&) n=2,3,45.
14 f3 10
2414 (BE) 35
251 (A—@) 50
D-A%4
it (Rm) ?:15+230(n 2)
_ 50+50(n—2)
nr{HE—&) n=2,3,4,5
n 345~

19




(mm)
A—k2A0F | A—p2A9F L) e
- LR 232 | 240 as0 a63 o8l o100
%;gﬁ &) 75 85 an a5
D-mac] 15
D-MaCw i TS+a40({n—41/2 85+ a0in—4)/2 S0+40(n—-a)/2 | 95+40in-41/2
n n=4,8 12,16 n=4812 16 n=4,8,1216 n=481216..
> -
rggﬁ—ﬁh 50 55 &0 &5 0
m ]-‘;-ﬁ
D-MelTWv i 50+30(n-4)/2 55+30(n—41/2 60+ 30(n—4)/2 B5+30(n—a)/2 70+30(n—41/2
n=4.8,1216 n=4.8,1216..- n=48.12,16- n=4.8,1216 n=4812,16-
2ot
(B E—m &0 5 a5 100
D-MaClA 1t
e td 80+40{n—4]/2 85+ 40in—4]/2 G5+40(n—-41/2 | 100+40(n—4)/2
n=4,8.1216- n=4,8.1216- n=4,8,1216... n=4,812,16--
2ot
(B E—m 55 &5 70 5
DMaav | 1T
ety 55+30(n—4]/2 65+ 30(n—4]/2 70+30(n—-4)/2 T5+30(n—41/2
n=d4,8.12.16 n=4,8.12,16- n=d4.8,12,16-. n=4.812,16
27t
(B A 0 5 &0 85 a5
D-ASC) 1ot
et T0+40(n—4)/2 T5+40(n—4/2 B0+ A0(n—4]/2 B5+40(n—-4)/2 | ©5+40(n-41/2
n=4812 16 n=:4,8,12 16 n=d,512,16 n=d4,8,12, 16 n=481216
2t
(R H—E 45 50 55 &0 0
D-ASCIV 1t
et A5+30(n—4)/2 50+30(n—4]/2 55+ 30(n—41/2 80+30(n—4}/2 T0+30(n—41/2
n=4.812,16.. n=:4.8,12 16 n=d,512,16- n=4.8,12, 16 n=4.81216
D-F501 141 a0 a5 100 110 115
D-FS5CW
D-J58 fggﬁ_ﬁj a0 s 100 110 115
D-J5aW :
D-FSBAL | ... G0+55(n—4)/2 85+ 55(n—4) /2 100+ 55(n-4)/2 | 110+55(n—41/2 | 115+55(n—41/2
D-F58F n=4.8,12,16.. n=:4.8,12. 16 n=4,8.12,16 n=4,8,12, 16 n=4812,16-
(et 100 105 110 120 125
241
DoFSNTL T B—T) 100 108 110 120 125
100+55 (n—41/2 105+55{n—4]/2 110+55(n-4)/2 | 120+55(n—41/2 | 125+55(n—4)/2
nred n=4,8,12,18... n=4,812,16. n=4,8.12,16- n=4,8,12,16... n=4,8,12,16--
> g
ri}?ﬂ—ﬁﬁ B0 a0 a5 105 110
D-ASC) 141
D-AgLl ety &0+55(n—4)/2 BO+55(n @5+55(n—4)/2 | 105+55[n—42 | 110+58in—-4)/2
n=4.8,12,16. n=4.8,12,16 n=4.8.12,16 n=4,8,12,16-. n=4.812,16-
s &0 70 5 105 110 115
2ot
f— . B—E) &0 70 85 105 10 115
- BO+55(n—4)/2 70+55(n—4)/2 BS+55(N—4)/2 | 105+58(n—4)/2 | 110+550n—-412 | 115+55(n—4)/2
il n=4812186.. n=48.1216- n=4,812,16... n=4812,16- n=4,8,12,16-.. n=48.12,16--
27t
pysel | Emm-m 75 80 85 a5 100
D-YTOW 141t
D-Z7] TE+40(n—4)/2 A0+ A4D(n—4) /2 BS+A0(n—4)/2 O5+40(n—-4)/2 100+ 40(n—4)/2
D-780 nerfd n=4,8,12,16. n=:,8,12,16 n=4,8.12,16 n=4,8,12,16-. n=4,812,16-
2ot
D-Y&ar] rgﬁ.ﬁ—ﬁa 55 60 70 5
D-YTPV 1rf:
pyrowy [ 55+30(n—4]/2 60+ 30(n—4)/2 70+30(n-a)/2 T5+30(n—41/2
n=d4,8.12.16 n=4.8.12,16- n=d4.8,12, 16 n=4.812,16-
2t
(R B —m a5 a0 100 105 110
p-YrBAL | 17
—— BE+45(n—4)/2 80+ 45(n—4) /2 100+45(n-4)/2 | 105+45;n—41/2 | 110+45(n—4)/2
n=4812 16 n=:4,8,12 16 n=4,812,16 n=4,8,12, 16 n=4,812,16-
2ot
(R H—E 110 115 125 130
D-P4DW 1t
et 110+65(n-4)/2 115+B65(n—4)/2 | 125+85(n—41/2 | 130+65(n—41/2
n=4,812.16- n=4,812,16- n=4,8,1216 n=4812,16-
1ot 60 &5 75 8O EE
251 (BE) 60 65 75 ER S
D-G38 2 (B—@) a0 o5 100 105 110
D-K39 PRF— B0+ 30(n—2) &5+30(n—2) T5+30(n—2) 80+30in—2) B5+30(n—2)
D-A30) o i (R n=2 4,68 n=246.8 n=2.4.58 n=24.6,8. n=2.4.68
et tE—m | 20+100in-2] G5+ 100(n-2) 100+100in-2] 105+ 100in—2} | 110+100(n-2]
nerfd n=24,8 8- n=24,6.8.. n=2468 n=246 8. n=2468.
1ot 70 75 80 85
241 (RE) 70 75 80 85
2o (E—@) 70 75 B0 85
L F— 70+30(n—2) 75+30(n—2) 80+ 30{n—2) BS+30(n—2)
‘ n=24.68 n=24.68 n=24.6,8. n=24,68
N T0+50(0—2) T5+50(n—2) &0+500n—2) BS+50(n—2)
rer t41F— ) n=5.d4.6.8 . n=5.4,6.8 n=2,4,6,8. n=54.6.8
n 345~

20




o T Em Em o o e Ee SN R R SR SR SR SR SN SR SR SR N S SR SR S SR N SN SR S N R SR R SR SR SR R SR SR R SN SN SR R SN SN SR SR N S e ey

BRARTHECCBROERA —F2A v FLUMCETRA— 2 A v FORBITATETT,
BRI DEELTE. H—L~N—IWEBAPOFE/z(dBest PreumaticsZE TSRS,

# ./ —7ILo0—ZX(INC=bEm) EEnA— L2 vF(D-MIOEV), Y76, YTHR £ 3 U 30T, Bllld. F—L~—WEBAFOFFilE
Best Pneumatics® ZESHE 2210y,
HEEAT— A vFICR. FUDSI PO oo HEAYET. BHllld, F—L~A—JWEBHFOSE:1dBest Pneumatics® BB E L,

' [ ]
i 1
s 1
I | #—FRAuTFEE EE U—FEIE L (RS E) HE :
- D-MSNV, M3PV, MIBV B 1
i D-Y69A, Y69B, Y7PV 1
i D-MONWV, MIPWV, MIBWV Faxyh ) .
: : = = 1
- D-Y7NWV, Y7PWV, Y7BWY A 1
I D-MONAV, MOPAY, MOBAV RAEELR 2ERT) !
: e D-Y59A, Y598, Y7P i
' D-F59, F5P, 159 1
I D-Y7NW, Y7PW, Y7BW T i
- D-F59W, F5PW, J59W S0ty (8) e e s '
i D-F5BA, Y7BA FOMR L& (2BRT) 1
: D-F5NT FA7ft :
- D-PSDW AR (28R 1
I D-A93V, AGBV F— — !
: sEA hiacid . EFHL .
. s ] S0k - () - i
I D-AS3, A5, 273, 276 — .
1
i 1
- 1
: 1
[ [}
L -4

21



2 ANTERDIES

) —2ZANEFRDIZES

3#ANPN

3#LPNP

|
[ ——
(PLCHIEREIES)
2= P 283
A—bRAVF
(PLCPBEEEIRE) (PLCPIZREIRS)
PLCOARTRICK W ERAEN BRI ETOT, PLCOANTHRITH U TEREL TS,
AND (E3!) . OR (I 51)) & &5
3 IANPNEHADANDES 3#HANPNEH D DORER:

(VL—%2EHY2185)

3#HFXPNPH I DAND R
(UL—%EHY5185)

F—hrAA U T2EE
ANDZZSE L =15 5 0NES
DEFABENETFTLER
DEEFREL LSS
N E T,

Flo. FRORA—HA
Ay FfE HONKRE &
BolEERMILET,

ONEoamBEE=8F8E - ZREEE X 2E

=24V—-4Vx2{d
=16V

- EREEDC24V
A— b Ay FREETEEAV

(A= bR Y FDHTITSIEE)

B

F—hRTUF2

|
|

(EiERT)
FA—bAAyTF2EE
OR#E#: L 1z 15 50FF
BEOERBEAAEL
BUFBRRZELS
==yl SV S

OFFBFMamBEE=RNERX2BXafH1 v E—F 2

=1TmAX 2{8 % 3kQ
=6Y

Bl aF s rE—F 2 23k0
F—hZA Y FRAEFERTMA

22

(B#ER)
BhEARMSE =0,
OFFEMERBEHL K
ELLBEFHIF
ThAN,. ONBFEDA—
R Ay FEEICEY.
F—r2AvFIZHR
BEARMEHL . B
T B, TRITHE
<Y, RmALEWS
gbhHUFET.



1)
2)
3)
4)
5)
6)
7
8)
9)

10)

3-2.

23



3-2-1.

% |
§ [N m]
32,40 6 4 56
\ ’ 50,63 8 8.6 12.1
> 80,100 14 152 21.1

24



3-2-2.

1)
9
2)
10
\
‘ |
|
9.

3)

25



3-2-3.

GR-S-010(10g ) GR-S-020(20g )

1)
2)
3)
4)
11 100
10 3(9)
AW
L= ><l 100mm
2
1 7) (5 @ @ 7
b
L |
11.
10.

@32 @40 @50 @63 @380 @100

100st 3 4 3 4 3 5 4 5 6 8 8 10

N
-
=
o
N
w

50st 1

26



3-2-4.

1) 11,
12
2) ( 11, @)
13
3) ( 11, )
v
3 1mm
12.
_| i -
E i
4)
11 (mm) (N m)
32,40 4 4.8
50,63 5 10.4
80,100 6 18.2
5)
6)

27




3-3.

3-3-1.
@32 @40 @50 @63 @80 @100
CS95-32 | CS95-40 | CS95-50 | CS95-63 | CS95-80 | CS96-100
1
1
2
1
2
1
GR-S-010(10g), GR-S-020(209g)
1 15-1 2 15-2
1
1
3-3-2.

28



3-4.

upP

29







08081000754

egagesess o

i - 151

\

i

] 77
R

p=

3 --“’ e
A-A".: 77
A A

| ‘
7 i ' JmH 15-2

15.
12

> 1 14 -
: 1 15 .
; 1 16 -
: 1 17 A o
= 1 18 5 L0
; A 1) | 19 ¢
; B 10) | 20 2
: - o £ 1)
9 T 5 K 1(0)
10 2 22 1
r ¢ = (1)
= A 12 | 25 :
13 . +@

31




P2,P3
1-1. 2-1.
2-2. 2-4.

SMCHRE=1 ©9.0120-837-838

URL https://www.smcworld.com /9 00 12 00 13 00 17 00

@
© SMC Corporation All Rights Reserved



